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04 QIZFHALAIH B = 10,000 9,000 1,000
OZHEI0I=UHE & AHH| 10,000
Zol M S M 20,000 20,000 0




2N 230z
M 2oz g% J18 =2
Sl AIDIZ 9IB RO A CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
OZdi=HSAHM Akl 20,000
HoFS 2t 3 40,000 40,000 0
307 eIzl & 40,000 40,000 0
04 QIZFHALAIH E = 40,000 40,000 0
OHMotel & Et&EA 40,000
0k HIAEE 80,000 90,000 210,000
307 21201 A 80,000 90,000 A 10,000
04 QIZFHALAIH B = 80,000 90,000 A 10,000
OJ0t2 HAEYE iz XA 80,000
SAFS 2 3 25,000 20,000 5,000
307 21201 A 25,000 20,000 5,000
04 DIZHHALALSE E X 25,000 20,000 5,000
O&AI 23 Wzl X2 25,000
HES=H 45,000 30,000 15,000
307 glz2tol & 45,000 30,000 15,000
04 DI2HHALALSE E X 45,000 30,000 15,000
OHES=HM Mzl XA 45,000
N3 AcelAOtAEe 23 FH 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OANXA FclAOtAER Z3=H & AHI 15,000
S+ ZadsME X 80,000 0 80,000
307 21201 A 80,000 0 80,000
02 QIAtFAAHEX 80,000 0 80,000
O+ ZIUsAY X 80,000
SHot= 20l =& At 143,880 173,480 A 29,600
= 20,000
< 20,000
Al 103,880
ROt Gl=&H A 68,250 97,850 A 29,600
201 Let249] 38,250 62,850 A 24,600
01 At 22l 6,750 8,850 A 2,100
OXO0tdte 2l (I, AlSI=SXIAIE, 03,
s g) 224 450,000& = 153 6,750
03 A2 E HI 31,500 54,000 A 22,500
OXO0ote 21X, Alsl=SXIAIE, 03,
X 8) Akl 2,100,000& = 153l 31,500

_13_




2N
X ZH -
L= B

el

230l = ot
S0z &= Jla =i
gMNctE 23H0l= A

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 30,000 35,000 A5,000
09 HALAHIEA S 30,000 35,000 A5,000
OXOotIte L3 (DM, AL SXIAIE, D3, H
e g5) 243 2,000,000& = 153 30,000
ANAE4ds 230z N 40,000 0 40,000
= 20,000
< 10,000
Al 10,000
307 gl2tol & 40,000 0 40,000
= 20,000
< 10,000
Al 10,000
02 It M AIHE L 40,000 0 40,000
OXNYEHLs 2stlzns XNIAY 40,000
= 20,000
< 10,000
Al 10,000
S0l==H XA 35,630 0 35,630
< 10,000
Al 25,630
301 et a = 630 0 630
09 HALAHIE& S 630 0 630
O=2=0=tHd 0tz 2st&Es HIIRAZ &
=1 630
307 glz2tol & 35,000 0 35,000
< 10,000
Al 25,000
02 It M AHEE 35,000 0 35,000
O=2=0=tHd 0= 2st&S 35,000
< 10,000
Al 25,000
HE2LZH (2st0z) 82,025 3,978,533 23,896,508
Jl23l 82,025 83,686 21,661
JlE2&l 82,025 83,686 21,661
201 L4l 30,725 28,546 2,179
01 At 22l 30,725 28,546 2,179
OJlsAeEs +el 7,770
OHHEARIII A2F FHl 11,000
OJIet =&Hl 3,240
oozt & FTL2 R 4l 8,715
202 O4dl 39,600 42,240 A2,640
01 = LH 4 Hi 39,600 42,240 A 2,640
OJIegeF& 39,600
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